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I 2rmwn: selecting fruit that have no obligation of n"1In (e.g. on n’awv)
a. &1 may select them orally from the n¥pn on "y (n931)
b.  pom must pre-select them and mark them as such on vy (771712 PR)
II. Question: does naw act as a My’ap for produce that is unfinished to obligate it in n"n?
a. Suggested answer: X" in our Mwn — only valid on mY’aw (no n"n) — else, invalid since TWYN Nya1p naw
b.  Rejection: since he selected them, that is the my»ap (not naw); naw used as example:
i. To teach that: 9av is 19 (= if someone else came and separated n"n — it is edible)
c.  Challenge: anytime the surplus returns to the pile (as here), there is no my»ap, (as per 27 mwyn)
i. Answer: our mwn deals with Xnv man and 1nv pile — can’t be returned
ii. Challenge: that which is “returned” is never taken (12 3rmn)
Rather: our mwn is 8", who holds that nnan 0w nx»™p (and vy that naw) is yaip
e. Suggested answer2: from pnan nyT — must mark “from here to here”
i. Only works: in y’2w - other years, ny21p naw
ii. Rejection: since he selected them, that is the my»ap (not naw); naw used as example:
1. To teach: that 920 is 1910 (= if someone else came and separated n"In — it is edible)
iii. Challenge: 8™ says if he began eating >x7y and it became naw, he may finish
1.  Answer: he may finish...after naw
f. 7257 poo:. unfinished produce are not yap through:
i. maw contra Y5n’s practice for himself
ii. /1977 contra ™ above
ili.  7¥m contra apy’ "
iv.  npp: following ®n»1a re: buying figs '8n7 from 0y in a place where most people press figs
1. xp73x teaches 3 madn:
a.  npp:is not yap except with produce that is finished
b.  Most pixi 2oy take mawyn (°RnT is only due to a small minority who don’t)
c. fmwym may be taken from *Rn7T even before produce is finished
i. Contra: mwn re: swapping (::npn) produce
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